Dewar

Circle your last initial. Put your cane in the corresponding dewar/bin.
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protein: tray:
cryo-chem: resolution: derivative atom:
year: month: day.

notes:

protein: tray:
cryo-chem: resolution: derivative atom:
year: month: day.

notes:

protein: tray:
cryo-chem: resolution: derivative atom:
year: month: day.

notes:

protein: tray:
cryo-chem: resolution: derivative atom:
year: month: day.
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protein: tray:
cryo-chem: resolution:_____derivative atom:
year: month: day.

notes:
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cryo-chem: resolution:_____derivative atom:
year: month: day.

notes:

protein: tray:
cryo-chem: resolution:_____derivative atom:
year: month: day.

notes:

protein: tray:
cryo-chem: resolution:_____derivative atom:
year: month: day.
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Cane -
label:
I
protein: tray:
cryo-chem: resolution: derivative atom:
4] year: month: day.
) notes:
protein: tray:
cryo-chem: resolution: derivative atom:
0 year: month: day.
L notes:
protein: tray:
cryo-chem: resolution: derivative atom:
0 year: month: day.
L notes:
protein: tray:
cryo-chem: resolution: derivative atom:
0 year: month: day
— notes:
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3 letters of last name  first number
Cane -
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I

protein: tray:

T cryo-chem: resolution:_____derivative atom:
year: month: day.

— | notes:
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notes:
protein: tray:

T cryo-chem: resolution:_____derivative atom:
year: month: day.

| notes:
protein: tray:
cryo-chem: resolution:_____derivative atom:
year: month: day.
notes:
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